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@ee trees of green

red roses too

| see em bloom
for me and for you
And | think to myself

what a wonderful world
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nextLine( ) : anu String anauiunuw

import java.util_Scanner;

public class ReadStringl {
public static void main(String[] args) {
Scanner kb = new Scanner(System.in);
System.out.print("ﬂf‘la =");
String name = kb.nextLine();
System.out.printIn("add@az " + name);
}
ks JLab>java ReadStringl
fia = AN uadeiu
fTaAAY 217 wadeu
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&g6039 + ? AleRn39

639 = ANAUUAIINUTY

e &039 + &M39 AanTTsiadgn3g "AB" + "C" 1 "ABC"
* AW + AU UMD U + JAFY
wdasiuiluanienau ualea
-"A"+ 2 16 "A2"

- 2.5+ "A" 6 "2.5A"
— "A" + (4+2) Lo "AG"
~"A"+4+2 g "A42"
-2+"A"+4 g "2A4"
-2+4+A 16 "6A"

o ¥ [ — % Tldduaadelai'le
—""*1 @
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UMY "HELLO World"

il

5

0 1 2 3 4
HE|LILO

S |
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W| o

Q/

artduavanuseMnagalusgaivfa 0 Laua

(%4

g639&717 N da2taae 0 9 N —1
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usn5uav String

usn15uav String

8039 . Gawvian( ) method

&659. length( )

AUANUELNIUDIRAIY

String s = "12345";
int a = s.lengthQ);
a = "Hello".length();

2110101 Fennssumauiieas Wi+ (25/05/52)

ge39.trim( )

ﬁuam%a‘lmimﬁaumj
wesA2Aa9INN LAY

String s =" ab c';
String t = s.trim();
// t Auab c”,

/7 s Liul&au
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usn15uav String

usn1s5ua9 String

&639 . toUpperCase( )

ﬁluam%aimimﬁ AULAN
weitd@sutidudrdonauelnaiiua

String s = "HelLLo";

String t = s.toUpperCase();
// t Ay "HELLO™,

/7 s Giuldeu
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&639.toLowerCase( )

ﬁuam%o‘lmﬁmﬁamm
weitd & aufludrdongeidniiue

String s = "HelLLo";

String t = s.toLowerCase();
// t \Au"hello”,
// s ‘Linldau

2110101 Feanssumandiliaas 34 (25/05/52)
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usn5uav String

usn15uav String

gm39.substring(i,j)

Auanseluiidauandotian
AVLLAAIN 1 A9aIN j-1

String s = "hello";
01234
String t = s.substring(1,4);

// t Auell”,
// s liul&au

2110101 Fennssumauiieas Wi+ (25/05/52)
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6591 . indexOF( &n%92 )

]
Q/ a o v

AuAutizadandvl MidamULKiauAuan3I2

String s = "hello hello";
01234

Int kK = s_indexOf("'el');

2110101 Fenssumauiaieas Wi+ (25/05/52)
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usn15uav String usn1s5ua9 String

86591 .equals( 0392 ) 86591 .equalslgnoreCase( &n%92 )
Au true d1an39l nflauanse fiu true MansI1 ndausnse2
uuubisgulacdidvngelnaidn
String ans = kb.nextLine(); String ans = kb.nextLine();
iIT (ans.equals('yes™)) { 1T (ans.equalslgnoreCase(''yes')) {

yes, Yes, YEs, YEs,
yeS, YeS, YyES, YES
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fdusnisuav String fAaeny : dudavinvlusgnivy
'"12345" . Iength() N 5 import java.util.Scanner;
" " = " " public class CountBlank {
a bc 'trlm() - a bc public static void main(String[] args) {
" " = 1 Scanner kb = new Scanner(System.in);
0123" .substring(1,3) —» 12 System. out. print(-anii= ")
. o = . . String t = kb.nextLine();
abcbc™ . indexOf("'bc™) » 1 int count = 0-
e e e LA int k = O;
AbC2" _toUpperCase() - ABC2 while (k < t.lengthQ) {
"AbCZ"-tOLOWEI"C&SG() N ""abc2" if (t.substring(k, k+1).equals(" ")) count++;
k++;
"AB" .equals("'Ab™) —  fTalse 3
I L System.out.printIn("ddss«in " + count + " &1'");
AB" _equalslgnoreCase(""Ab") —» true } Jlab>java Countalank
3 8630 = VA JA JA VA

al 1 Q-
fizagdne 3 M
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97Uy for

9ULLUY for

o uNZAUINIUNVINL U WIUATIBN NN KU

o JeuisAN (KIaaa) ANINIU

<n; i++ ) {

int i =0 ; int 1;

while ( 1 <n) { for (1 =0 ;i
// .. // ..
i++ ;

} }| for (int i=0

// === Y Qs - 4
A12av 1 TuduAa Tadduds i ‘6
0. 1 n-1 } VST R )T

; I<n; i+ ) {

do this

¥

for (initialization; condition ; update ) {

2110101 Fenssumaniiieas 34 (25/05/52)
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|initiaﬁization|
false
true
t | do this |
| upJﬁte
E—

}

for (initialization; condition ;
do this

update ) {

2110101 Feanssumandiliaas 34 (25/05/52)
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MIaenyg : 97U for

Q

Aty @ &639Nsunnd "A" Aen

for (int i = 0; 1 < 10; i++) {
System.out.printin(i);
3

for (int 1 = 10; i >= 0; i--)
System.out._printin(i);
}

{

for (int i = 0; 1 < 11; 1
System.out._printin(i);
}

+2) {

for (int 1 = 1; 1 < 11; i
System.out.printin(i);
3

+2) {

2110101 Fennssumauiieas Wi+ (25/05/52)
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}

}

}

import java.util.Scanner;

public class CountBlank {
public static void main(String[] args) {
Scanner kb = new Scanner(System.in);
System.out.print("aaie="");
String t = kb.nextLine();
int count = O;

for (int k = 0; k < t.lengthQ); k++) {

if (f-substriné(k, k+i).equals(" ")) count++;

JLab>java CountA

&n39 = JAVA Programming
A2

2110101 Fenssumauiaieas Wi+ (25/05/52)

System.out.printIn('fi A" + count + " ")

vinaengls3vaziiu
ﬁ‘;\j "A" uRe "a" ?

|

20




Bar code uasgu EAN-13

e 1A55U bar code Usznausmiaau 13 6
o MINFnAaLRUATIAFAU (check digit)

81 NANGILNUIA
siavan 3

9 7 8 1 9 3 2 6 9 1 8

9+21+ 8+ 3+ 9+ 9+ 2+18+ 9+24+ 1+24 = 137
137 % 10 = 7
10 — 7 =
3 % 10 =

2110101 Fenssumaniiieas 34 (25/05/52)

Integer.parselnt(...), Double.parseDouble(...)

Py ll12ll + ll23ll vl’ﬂv II1223II VLJJIVLﬂv ll35ll
o fianseriaaluiudiaa
o giavuladililu int w3a double Aau 6t
— Integer.parselnt( s )
— Double.parseDouble( s )
e faty
— int a = Integer.parselnt(’'123");
— double b = Double.parseDouble(''123.45");

2110101 Feanssumandiliaas 34 (25/05/52) 22

Tuswnsu : EAN-13

import java.util.Scanner; |52 12 ndniAula int 1le
(twsefiaAu gavwuau int Fu'lailm)

f

public class EAN13 {
public static void main(String[] args) {
String d = kb_.nextLine();
int s = 0;
if (k% 2 ==0) {
s = s + dk;
. ni HE

Scanner kb = new Scanner(System.in);
AT
for (int k = 0; k < 12; k++) { e
} else {
System.out.printIn(*'Check Digit &a "+(10-s%10))%10);

System.out.print("éuaw 12 vian = ') ;
int dk = Integer.parselnt(d.substring(k, k+1));
s = s + 3*dk; c¢=/10-| > d,+3 > d [mod10 |mod10
}

}

2110101 Fennssumauiieas Wi+ (25/05/52)

AsautisuudnamI (text file)

e anuUnWuAaAINY

Scanner in =
new Scanner(new File(''c:/data-in.txt'"));

String line = in.nextLine();

in-close();é[ wnldAatlawdu ]
o HauuWuamINY

PrintStream out =
new PrintStream(new File('c:/data-out.txt™));

finstlaudund ]

out.print( ... );
out.printin( ... );

out.close();

2110101 Fenssumauiaieas Wi+ (25/05/52) 24




AsanuuintanIu (text file)

import java.util_Scanner;
import java.io.*;

public class ReadingTextFile {
public static void main(String[] args)
throws 10Exception {
Scanner in = new Scanner(new File('data.txt'));
for (int i=0; i<4; i++) {
String s = in.nextLine();
System.out.printin(s);
¥
i

}

n.close();

}

2110101 Fenssumaniiieas 34 (25/05/52)
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AT UAUNRUALLAY

import java.util_Scanner;
import java.io.*;

public class ReadingTextFile {

System.out.printin(s);
s
i

n.close();

while ( in.hasNext() ) {
String s = in.nextLine();

public static void main(String[] args)
throws 10Exception {
Scanner in = new Scanner(new File(''data.txt'));

hasNext Au true
afeldayalau

2110101 Feanssumandiliaas 34 (25/05/52)
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Aaty : Tuswasuvingunwudanliny

import java.util._Scanner;
import java.io.*;

public class WritingTextFile {
public static void main(String[] args)
throws 10Exception {
Scanner in = new Scanner(new File('filel._java'));
PrintStream out = new PrintStream(
new File("file2.txt™) );
while (in.hasNext()) {
String t = in.nextLine();
out.printin(t);
}
in.close();
out.close();
}
he

2110101 Fennssumauiieas Wi+ (25/05/52)
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F9v1uNIsIA I RAsAzLUUTALAU TuL AL

awduazuuy
3

| sum«0,n<0

folilazaya ?

F

p « arusiuniilu
AZLUU

sum <« sum-+p
nN«<n+1

5130120321
5130293921
5130294121
5130338421

74.0
85.5
58.0
90.2

(Cstop >

2110101 Fenssumauiaieas Wi+ (25/05/52)
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TUILATUMRIALRRL AL UY

“ | import java.util._Scanner; LsrmlzB21
import java.io.*
5130294121
5130358421

public class AverageScore {

public static void main(String[] args)
throws 10Exceptign {
new Scanner(new File("data.tx

Scanner in =

double sum = 0;

int n = 0;

while (in.hasNext()) { . .
String id = in.next(); // a Juunilenau (Ausadagineg)
double p = in.nextDouble(); // auilu double taaA'le

sum = sum + p;
n++;

+

in.close(); .

System.out.printIn(azuuwado =" + (sum /7 n));

A ¥

TUTULATUVNRAAAY 9 WAIATLUU

import java.util.Scanner;
import java.io.*;
public class ScoreStat {
public static void main(String[] args) throws 10Exception {
Scanner in = new Scanner(new File("data.txt™));

double sum = 0.0, min = 1000.0, max = 0.0;

int n = 0; ; - 5

while (in.hasNextQ) { @Mﬁﬁmm} QMMﬁmM]
string id = in.next(); HANn dua
double p = in.nextbDouble();
if (p < min) min = p; 5130120321 74.0
it (p > max) max = p; 5130293921 85.5
sum = sum + p; 5130294121 58.0
N+ 5130338421 90.2

} e

in.close();
System._out.printIn(aziuuaiy ="
System.out.printIn(azuunisugn ="
System.out.printIn('azuuunnga ="'

}

+ (sum /7 n));
+ min);
+ max);

}

2110101 Feanssumandiliaas a4 (25/05/52)
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TdsAsuatuasLuuLLalI NI e

input
ATLUU LATA 5130120321 74.0
p > 80 A 5130293921 85.5
70 <p < 80 B 5130294121 58.0
60 <p < 70 C 5130338421 90.2
50<p <60 D
p <50 F
output
5130120321 74.0 B
5130293921 85.5 A
5130294121 58.0 D
5130338421 90.2 A

2110101 Fennssumauiieas Wi+ (25/05/52)

31

TUsunsudatnsatAuadtilu

import java.util.Scanner;
import java.io.*;
public class Grading {
public static void main(String[] args) throws I10Exception {
Scanner in = new Scanner(new File("'data.txt));
PrintStream out = new PrintStream(new File(''grade.txt™));
while (in.hasNext()) {

String id = in.next();

double p = in.nextDouble();

String grade = ""'; ATLUY LNS6
if (p >= 80) grade = "A": p > 80 A

if (70 <= p & p < 80) grade = "B"; 70<p <80 B

if (60 <= p & p < 70) grade = "'C"; 60<p <70 C

if (60 <= p && p < 60) grade = "D"; 50<p <60 D

if (p < 50) grade = "F" p <50 F

out.printiIn(id + "™ "
}

in.close(); gunsacday if yvane 9
out.close(); ussiadllsnarawuy ag
} dLduandy mid-term

+p + """ + grade);

}

2110101 Fenssumauiaieas Wi+ (25/05/52)

32




ASL2NsREa Y Rotl3

Rotate-13

@ee trees of green \\Q‘rr gerrf bs terra
red roses too erq ebfrf gbb
Iseeembl¢  jyjliys Caesar 115881 12
for me and v - be Ibh
wuuna? wetiu rot-3
And | think ke~ryoon ~ag—v—guvak gb zlfrys
what a wonderful world jung n jbaqreshy jbeyq
N\
[a[e[c[o]e[F[e]n]1)a[]L[u]

AEAAAEARILIEERE:

y
(N[o=lofr]s T wivlwx[¥]z]
\YJ
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-1 oM
0123456478/190123456789Q1P345
ABCDEFGH IIIJKLMNOPQRSTUWWXYZ

— —J

upperCase

upperCase. indexOF('1');

)
=S =~

-
o] (ST
I

g ¢ = upperCase.substring(jJ+13, j+14);

+13, Vj+14);

N =
(j) -
=

upperCase. indexOf("'V');

Sl
= =~

-
o] (ST}
I

wn
r~+

g ¢ = upperCase.substring(j

(+13) % 26;
upperCase.substring(j+13, j+14);

=
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Tdsunsuain/aansvgunuwuy Rot-13

LWULAN : @nuse1adn (escape char.)

public static void main(String[] args) throws 10Exception {
Scanner in = new Scanner(new File("data.txt™));
PrintStream out = new PrintStream(new File('dataX.txt™));
String upperCase = "ABCDEFGHIJKLMNOPQRSTUVWXYZ";
while (in.hasNext()) {
String text = in.nextLine().toUpperCase();
String rotl3 = "";
for (int k = 0; k < text.length(Q); k++) {
String c = text.substring(k, k+1);
int j = upperCase.index0f(c);
if@>=0){
J = + 13) % 26;
rotl3 = rotl3 + upperCase.substring(j+13, j+14);

} else {
rotl3 = rotl3 + c;
3

}
out_printin( rotl3 );

}

in.close(); out.close();
}

2110101 Fennssumauiieas Wi+ (25/05/52)
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gasmsiin WA RIFA"
es = "'yaN "&IFA"" Ao
es = "WaN\"IRIFAN'T" gqn

BEIRIEIGIE

W| g a2 2N

LY]

13an \"" Midisulusna3ein escape character
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anusLnan (escape char.)

\" LINu '

\\ LINU \

\n LY astuussialua
\t WU s« tab

String s = "uwWyu &'}dat@ aajﬁ@:\ ata"';
System.out.print l\‘I(S); / J

wily "data" agi
»c:\data
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